Via X
EAS UN Http://www.china-easun.com

ESUYXBISR &I

FaEa

& RAEmER, EEETLHEMRDE.
SEL T IR, ERERE N RIS,
S SEXAWMSRBEIMH, FREAEI0CEREGHTEETE (ZFATRAATITE) o
& SR EINFHE LR,
O EUER F I UMRE -k ARG, EUMERKESE LM OCRBNSEMNEHE,
e EETRBE (V=1m/s) BREREIK, BahENRK. BHMENRT. FRRES.

BSwmA

ESUY — 50 x 50 — S — LB ESUY — 50 x 50 — S — LB
T T T T T T
FAgE B SR IR EE A Inner Inductive Mounting Type
S HER =G, EAH Diameter Magnetic Ring Blank:Basic
s T2 EA: FHEUAE LB:W‘EEEK Model Stroke S:With magnetic ring LB: Front and Rear Fixation
WA A FABTEZ Double Acting Blank:Without magnetic ring FA:Front Flange
FB:E_igﬁ FB:Rear Flange
TC:¢IEJ€§_!RH§ TC:center trunnion type
TC-M: 545 B & fE 5 TC-M:Center Trunnion With Plank Type
(=] CAGEEIE HIgER CA:Rear Male Clevis
ﬁ"? CB:J5 & Bl & Wi &Y - CB:Rear Clevis
51
H’ ARITMEL R A50mm, 1718 450mm, H#IA, RBTCEEER K NIREN
N o
ERSE, HERMITWH/RSH: ESUY -50x50-S-TC

RS

#I12/ Inner Diameter (mm) 32 40 50 63 80 100 125
FIERIRK/ Action W {E A2 Double Acting

T1&4r B/ Fluid 2B E4ZE S/ The constrirgent after filtered

E & 2 X /Fixing Type EZA%/Basic FA FB CA CB LB TC TC-M

& A JE 7155 B/ Range of Working Pressure MPa 0.05~0.9

{RIET E 51/ Proof Press MPa 1.35

1 AR ESEE / Operating Temp T -5~70

{E FAiE ESEE / Piston Speed mm/s 30~2000

2 A/ Cushion A48 %/ Regulabe Cushion

£ 17 %2/ Cushion Stroke mm 20 20 26 26 25 25 35
#EEW2L/ Port Thread G1/8 G1/4 G3/8 G1/2

SEfT#E

, o e p——
Iﬁrffer(lg;:rzeter #R/#E1TH2/ Standard Stroke ME:xngzIE(e Pez%géisle
32 25 50 75 80 100 125 150 160 175 200 250 300 350 450 500 1000 2000
40 25 50 75 80 100 125 150 160 175 200 250 300 350 450 500 600 700 800 1200 2000
50 25 50 75 80 100 125 150 160 175 200 250 300 350 450 500 600 700 800 900 1000 1200 2000
63 25 50 75 80 100 125 150 160 175 200 250 300 350 450 500 600 700 800 900 1000 1500 2000
80 25 50 75 80 100 125 150 160 175 200 250 300 350 450 500 600 700 800 900 1000 1500 2000
100 25 50 75 80 100 125 150 160 175 200 250 300 350 450 500 600 700 800 900 1000 1500 2000
125 25 50 75 80 100 125 150 160 175 200 250 300 350 450 500 600 700 800 900 1000 1500 2000

HERITIEBESAQAAKR



IERERST

ESUY
©32~0125
A+i772/Stroke
B C+772/Stroke
os
E F G or
H A» 2-0 <ﬂ> I
T Y - - - - - - - — — _ _
- e
I H ™l | S O
© 'It
— e o
L4 L\
a|_De-gnze a
2-Cushion Screws
8-L &AM/Depth M
Hs
142 ~_Code A B c D E F G H J K
Inner Dia.
32 140 47 93 28 32 15 28 22 17 6 M10x1.25
40 142 49 93 32 34 15 28 24 19 7 M12x1.25
50 150 57 93 38 42 15 28 32 22 8 M16x 1.5
63 153 57 9 38 42 15 28 32 22 8 M16x 1.5
80 183 75 108 47 54 21 33 40 30 10 M20x 1.5
100 188 75 13 47 54 21 33 40 30 10 M20x 1.5
125 234 98 136 60 73 25 40 54 38 12 M27 x 2
#He
142 ~_Code L M N o P Q R S T \ w
Inner Dia.
32 M6 x 1 145 14 G1/8 5 65 65 46 33 12 10
40 M6 x 1 145 14 G1/4 6 6 85 51 37 16 14
50 M6 x 1 145 14 G1/4 7 5 9 62 47 20 17
63 M8 x 1.25 14.5 14 G3/8 7 5 10 75 56 20 17
80 M10x 1.5 165 165 G3/8 7 55 11 94 70 25 22
100 M10x 15 165 165 Gl 7 9 11 112 84 25 22
125 Mi2x1.75 16 20 G1/2 - 12 - 140 110 32 27




ESUYS%HaE

9 10

11 12

13 14

15 16

17 18 19

N I 1
- = U= =
|
F 5 1 2 3 4 5 6 7 8. 14, 17 9
E EETREG B Lt E 8% LES EHEE 24 ZEi O L1
R RN NBR SAaHH BEE {l:32:337] RN NBR NBR HEE
F S 10 11 12 13 15 16 18 19
2 W EEF EE YEI % £ B E2237 7S f 44T =5 B aEeT 1EZh I E
oK R BEE NBR SaH# R BEE 5 TEHR
No. 1 2 3 4 5 6 7 8. 14, 17 9
Description | Piston Rod Nut | Dustproof Seal Ring| Guide Sleeve | Front Cover Right left Nut Pull Rod Buffer Ring O-ring Cylinder
Material Mild Steel NBR Composite Material | Aluminum Alloy Mild Steel Medium Carbon Steel NBR NBR Aluminum Alloy
No. 10 11 12 13 15 16 18 19
Description | Piston Rod Piston Y-Ring Support Ring Allen Screw Rear Cover Adjustable Screw Retaining Ring
Material Medium Carbon Steel |~ Aluminum  Alloy NBR Composite Material | Medium Carbon Steel |~ Aluminum Alloy Copper Stanless Steel




